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1 We are at a restaurant.

2 You are wise and brave.

3 I am not from Brazil.

4 |s Tom in Bali, Indonesia?

5 She is near the Hudson River.

1 He is not[He isn’t / He’s not] my classmate.

2 We are not[We aren’t / We’re not] poor farmers.
3 It’s not[lt isn’t / It is not] a dangerous animal.
4 1s it your school uniform?

5 Are there many children in the playground?
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They do not care about sports.

She brings her kids to work.

Eddie takes his dog to the park.
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| ride my bike to school every day.
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Does his dog run late at night?
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1 were 2 was 3 was

1 wasn’t 2 wasn’t 3 wasn’t 4 was not

5 were not

1 was 2 was 3 they were 4 wasn’t
(GGHA)

Lej= I8 2 =0 7|8t
2 O{X| Katherine2 HCY.
3 2= O1lo] WS HB0| AALE.

1A Amyes M= SUTHAL?

B: 8, IO
2 A ORS 2 =0|30[/UL?
B: 8, IO



~

3AH0IRE2 TEMY
B: 8, ZIEAOL.

4 A: 01X DerekO] &t20f] =ALI?
B: OfL{, 2F =01,

71% @mm p.037

1 hit 2 drank 3 spoke

1 cried 2 invite 3 danced 4 planned
5 listen

1 didn’t start 2 Did, hurt 3 cut 4 lived

5 didn’t come
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1 The hotel was not[wasn’t] full.
2 The movie was not[wasn’t] successful.

3 Did Josh visit the hospital yesterday?

4 Did your family have Chinese food for lunch?

5 The comic books were not[weren’t] in my friend’s
house.

1 The patient was not[wasn’t]

2 My son was lying

3 He talked

4 Did the boy take

5 My Chinese friend came

1 are waiting
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4 was reading

(1) went (2) raining (3) did (4) ate (5) was (6) planned

(7) was
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was were @ ®
A dog is chasing the tennis ball.

geting — getting @
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boil — boiling
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Jake and his friend were in England last month.
Chris bought a new computer four days ago.
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Was she sleeping in the tent?

They didn’t[did not] visit the museum last night.
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To study Riding to eat
preparing ® @
in order to =& so as to

The athlete goes jogging every morning.
We decided not to travel in August.

There is something interesting to tell you.
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eat junk food to stay in shape
cleaning — to clean wearing — to wear

to feel — feeling @ ® ®
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1 Joel gave candies to Chris and Stewart.

2 The shoes were small, so | returned them.

3 Emma likes bread, but she doesn’t like pie.

4 The amusement park was closed, so we watched a
movie.

5 Kate wants to meet me this evening or tomorrow
afternoon.

1 The story was both boring and long.

2 because they loved animals

3 when they met

4 Danny ate not only eggs but (also) salad for brunch.

5 While we were in the playground

1 that she lost her glasses

2 but it was not open

3 so our school was closed

(1) and (2) Both (3) because (4) but (5) that

(6) While (7) also
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and but or It is true that

® ® ®
Both Judy and Micheal like cake.
Brian knows that | have a secret.

Because Cindy was sick, she slept at home.

® @ and — or

This — It will finish — finish 16 @
® ® If because
when While @ ©)

He likes both noodles and rice.

Fred is not only tall but also handsome.
It is fair that Tom helped her.
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1 quiet 2 Loud 3 something easy
1 little 2 a little 3 many 4 much
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1 colder 2 easiest 3 heavy
1 more popular 2 best 3 dirtiest
4in 5 not as
1 cheaper 2 thinner 3 worst 4 more slowly
5 soft
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2 3712 0| ADIEEEC O 9fC}. Fred is the tallest student in my class.

I'h f i k .
3 07} T1H0) 1A Z 7R Lp A|7|SICt ave a few questions to ask you
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1 My parents like a warm breeze.
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1 Erin has too many pets. 03 as+ A §3(fast) + as: ~0t2 -5
2 I’m the shortest in my class. 04 ©sgood — well
3 Today is hotter than yesterday. ‘KellyZr2 ZF0[2H= ©|0j0| 22 SAF well0] L3ICt
4 | think your father is a famous man. @ expenswest — most expensive
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® healther — healthier

@ sickly — sick
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1 after 20n 3 from 4 before

5 for
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1 front 2 from 3into 4 for « EAME0IN SH 201X 7]

5 between « QT 7A MO Foil =254
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3 MIAOE 709 & OfAke] ARHE0] QUL at in on nextto 05 ®
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3 702 ZOFX| 7} PO A 221 QICH, ® on Buddha’s Birthday
4 L= MMUH 22 Srmoj| A QIAF =20 in the world At that time ®
5 H2IFE S 7t 22| SY| YIS S0 ULt @ @ ®

| spilled juice on the street.

They went to the concert at night.
@ p.160 He found his book under the desk.

©) ® @ ®

1 Evan had lunch at 1:30 p.m. . .
We will go skiing today.

2 There is a spider on the ceiling!

3 My mother passed away in October. 01 at+ A1 AZt

4 Many children catch colds in winter. LH= T1320{ 7A0 E&KSE Z40|Ct,

5 She is watering the flowers in the garden. 02 in+H/2&/X4H

1 The train stopped at that station. 1 G4X}0t0|= OFRIO| MEC = ZATY,

2 When are you going back to Italy? 03 on+S¥std

3 The president will visit Korea next week. Alberti= 0| J19| 7HE1t AlZkS HRCE
4 My father went on a business trip for five months. 04 next to: ~ FOi| (= beside / by)
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05 ® BFAIRFO|2k= 2J0]2] At HALan hour §0l= for7F YT
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@ = a7t X|7] Tojl SHES HRHC.
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5 1 will be at home on Sunday morning, but | may go out
in the afternoon.
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3 under @ Pedroi= YT 50| 578 .
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WORKBOOK

beSAt2| SR

1am 2is 3is
5 They're 6 are 7 are
1rmllam] 2 are 3is
5is 6 are 7is

1 There is a backpack
3 The boy is tall.

41t's
8is
4 are

8 are

p.02

2 There are some students

4 They are my sneakers.

1 L 1440]Ct,

2 Emmae L2 6S40|Ct.
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11s 2 Are 3isn’t
5I1s 6 are not

1isn't 2isn’t 3aren’t
5isn’t 6 aren’t

1 the question, it isn’t
2 Isthe man, he is
3 Are your parents, they are

4 Are these cookies, they aren’t

4 am not

4 aren’t
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2 JAs2 230147
3 11 92 TSR] L.
4 L= Xz B2 X| AT
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1 moves 2 sets 3 knows 4 play

5 live 6 want 7 enjoys 8 study

1 drives 2 rains 3 has 4 mixes

5 goes 6 works 7 closes 8 buys
1 Her baby cries loudly every night.

2 Jimmy takes a shower every day.

3 Joe washes the dishes on weekends.

4 My brother and | drink lots of water.

5 LIS] AIEE2 2HO| At
6 L= HE Tl BHY
7 Jenny= XA Ef
8 ?2= Y ANE
1 LtQ] Ot X|i= HA
2 04E0ll= HI7F 20|
3 Robin0ll= 5 Bo| FXMI7F UL
4 B2 20| & 4QICt,

5 Sally= 2ol =4 Ttk
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4 W 5S40 L= 25 B0 OpdD.

YetSAte| BEE 2|2 E p.05

2 Does 3 Do 4 does not
6 doesn’t 7 doesn’t 8 do
2 Does, have 3 don’t like 4 Do, love

1 Does
5 don’t
1 don’t eat

5 Does, come 6 Does, make 7 doesn’t use



8 don’t read

1 Do birds fly high in the sky?

2 Does Jack clean his room every day?

3 Sarah and | don’t[do not] wear a school uniform.

4 Clara doesn’t[does not] do her homework after school.
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1 was 2 was 3 weren’t 4 was
5 Were 6 Was 7 wasn’t 8 was
1 wasn’t 2 was 3 was 4 weren’t
5 wasn’t 6 was 7 were 8 were

Titwasn't 2 Were, weren’t

3 Were, I[we] was[were] 4 Was, Yes
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1 24 Lo] 7hat F3t ATt
2 Lt OfF| 04 317} HiCH
3 L= SATO) I21CH

4 2A AS0 ZE FHOL

61 =7 F7|= S0ITRY?
7 Lo (iS4 A U
8 2 & 2XMoilE £8=0] 5Lt AU,
1 O{Rl= X UL
2 Sallys H{ZUZ0f OFRTY.
3 A= Ericol MO|ALY.
4 0] A2 K|S0 Zr0| MEX| UL,
5 Lto] 0|2 = 2 HOi| Q| At} OFL &AL,
6 O{H| S4I2 Y UUAAL.
7 Lol ZREEHHME X RO Zof A
8 Benil 19| F2 & F HO| O{7]01 RAULY.
TAHO HE W2 S
B: OFY, 2F EU0L.
2 A OS2 A g EFR?
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4 A9 Al E 280 8 dL?
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1 met 2 send 3 didn’t know 4 didn’t
5 didn’t 6 Did 7 started 8 talked
1 sleep 2 rode 3 ate 4 built
5 played 6 read 7 went 8 bought
1 draw, Yes 2 drink, didn’t, drank
3 Did, have, did 4 Did, visit, didn’t

1 I82 X HYUof| LauraE BHEICH
2 H= JojA ojmYde ERL?
3 Kellys 1 HXAtE YX| 23HLC
4 2= A 3ol 7EX| LRATH.
5 U= X0l QFES MR UL
6 1= X300 119 Hige A0 HRLI?
7 1 Fat= 102 ol A|ZZHC
8 Lt= OfH| Jimzt S3134LCt,
1 L= o3IOl & 2 R
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22| oM ADMAE|IS HAULE,
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B: 8, 201
2 A Lucy= 2= OFH0l RK]E OHEL?
B: OfY, ¢t OpXY{. 1lf= A5 OHLO].
3 A 1S2 oM IHE|E AL?

B: 8, 0.
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1 Are 2 is dancing 3 walks 4 wasn’t
5 Was 6 were running

1isn’t fixing 2 was sitting 3 Were, going
4 are having 5 was swimming

6 wasn’t writing

1 Were, watching, Yes

2 playing, Yes, are

3 taking, he wasn’t

4 cooking, No, she[she’s] isn’t[not]

152 59 HOIKIE R UL?
2 MA B O= g &511 001
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4 = O HAE 7|02 10 QUA] QARUCH
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1 How 2 What 3 Brush 4 Be
5let’'snot 6 Don't 7 an 8 go
1 Let'stake 2 Wash 3 Don'tbe 4 Don’t pick

5Bequiet 6 Llet'sbuy 7 Llet'snot 8 write
1 How brave 2 What a tall 3 How funny 4 What nice
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1isn’t 2 Aren’t 3 Didn’t 4 can’t
5do 6or 7 Which 8 didn’t

1 will you 2wasn'tit 3aren’tyou 4 shall we
5 can she 6 doesn’t he 7 didn’t they 8 did he
2 No, she didn’t

3 | want cake 4 He is a pilot

1 Yes, they were

1 EMTLEE O, 2ZX] §L?

2 Ui 2= X gL?

3 1= 2012 O3l 7t $UL?
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7 252 oM &ofl o, IZR @U?

QI |
8 o] L= AS AHI

IS ZFE AU 51K YU0], THA?
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1 help 2 China 3 Health 4 Jenny
5 butter 6 money 7 soccer 8 coffee



1 children 2 sheep 3 classes 4 leaves 7 Jackson M= 142 SPHS0A FHE 7t=EXICE
5 books 6 babies 7 women 8 tomatoes 8 L= 19| Ax FE RO L= A2 £/ R Ol
1 three loaves of 2 a cup of Z0r5tCt,
3 two pieces of 4 ten glasses of
GiA)
1 1= £20| & st
fel= Xg =0 &1 ULt
3 AL 220 E2351Tt. will / be going to p.13
4Jenny= M22 MRS AL 1 Will 2 Are 3 going to
5 Pel= S HES A0 4 aren’t 5 will not 6 leave
6 L= SEE =S JHA X RO 1itis 2wort  3shewill 4 Will
7 L= 4ol A7 En HH1E S 5 Are 6 are
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1 Will you have a party at home?
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2 We're not going to take a bus.

3 She won’t be in Korea tomorrow.

4 Joe is going to learn Chinese next month.
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61 Gxte 2 £ Aot
1 These 2my 3 yours 4 them 1 A: LHY H|7} 27712
5 this 6 lts 7 his 8 those B: 2, 8 7{0L
1 his 2 theirs 3us 4 mine 2 A L= 21 S0l CHA] 2 AL?
5 your 6 Our 7 her 8 its B: OfL], 7tX| 942 74{OF.
1 It is very cold. 3 A: Mara M= THE|Of| 8 7HL?
2 Are these her glasses? B: 8, & 7{0L
3 Those are my cousins. 4 AT 4= O] THXIE g AHU?
4 That is my favorite book. B: 2, 218 70}
A 5A U= 82 38 AL)?
101852 HS 2ot B: S, & 0L
2 James M= Lol AkZ0|C}, 6 A 152 59 gl 201 AL?
30| 2L 1429] Z10] OfLC}. B: &, 20{& Aok
4 JE= 158 UX| 25t} 1 He HOlM THEIE E 7HLI?
5 0| %L 149 ZHITE{7} OFLL|? 2 R2=H EfX| 22 Ao|ct,
b L= DX} S 7|2 AHCH T1749] AHS w7 LMO|Cf 3 &= WY gt=20f glg Aot
7 Carl2 OfF| 12| Hr H&S QUOIHRCH 4 Joes Os E0l E=01Z iz A0IC
8 MASS Bl JNE2 i HX|C
1 2 Xtz 29 %00] ofic SE iz il
2 1 E = a5 Ao|Y? 1 may 2 cannot 3 can 4 May
3 Kevin2 &4 22|15 EotELCL 5ableto 6 Can
4 1A 2338k Lo Ao|ch 1 have 2 help 3 X
5 L= EME0IM L2 HEis Bt 4 cannot[can’t] 5can 6 solve
29 eilE S Fofl AT 7 may not
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1 Can, sit

4 isn’t able to make

2 May luse 3 Are, able to ride

1W7LAH0IZE &
2 XZ UHE EAE
3J=371H8 12
4 L= M Hide
5 James M L2012 &
6 14= 1 43t ZHIE
7= 188 o
1 W7F04710fl otote E7t?

2 W7t 0] ZtH2tE AtEdh= Ek
3UE MHAS E 2 AL

4 Mikes AAEIS 25 = Q{CH

should / must / have to

1 be 2 have to
5 change 6 brush
1 should 2 must

3 Must she
7 shouldn’t
3 have to
5hadto

1 Tim doesn’t have to call me again.

4 don’t have to

2 You must not search into this matter.
3 Should | do my best in everything?

4 We have to keep our promises.
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p.15

4 has to

6 has to

1 I& Maggiel| A=l E3QICE
2 W7t BAXIE sHof otL?
3 1= "ol 2% 710F &7
4 Sophies IS0 214g LaHOF ST,
5152 Agg HiE et el
6 L= AL S0 $X|IE S SHOF St
2= EMB0IM MS0IM= QF FL.
1 Tim& LIl ChA| T StoHOF St
— Tim2 LI0i|A| CHA| Taket BRIt gict
2 U= O 2ME ZAfsHOF Bt
— Ui 0] 2ME ZAfshM e of ECt.

20i| =M= TfsHOF it

Z7{ Hoj7} st SAt

1 sad 2 my cousins 3 good

4 a famous model 5 dark

p.16

6 a soldier

7 middle school students 8 red or yellow

1 looks like 2 soft 3 clear 4 terrible
5 cold 6 angry 7 exciting 8 happy
1 These grapes taste sweet.
2 The rich man became poor.
3 His story is popular in Korea.
4 She got bored with her work.
E=)
1 Henry= &I HQIC}
2 JS2 LU MES0IL,
3 0] #0|2= St0] ECt.
4 Ben2 RE¢et ZHO|C},
5 6A] 0|=01 1= ATt
6 Lol ¥E F2lo] Rt
2= Seolct.
8 7I20l= LR 0| WZ AL e TIct
1 242 AOE MAE 2elct
279 =A2l= BEEY SECL
3 o=2 HorRct
4 0] BAI2 BHEHSH0| HTF
5 TR =R
6 Jenny= ol 37t RLI?
1 57 F7|= S0|1TIESc
8 152 oM =82 7K ULt
=x0{7} LRt SA} p.17
1334 21384 3384 4134
5184 6 34 7 384 8 384
1 watch 2 smile 3 fly 4 live
5 play 6 come 7 read 8 have

1 Can I try this on

2 We will hand it in

3 Can you pick me up

4 You should turn off the lights
lights off

&= You should turn the
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1 gave 2 him 3 a book
5 tell 6 her 7 me

1 of 2to 3 for

5 for 6to 7 to

1 Lily asked a favor of me.

2 Please give this scarf to Paul.

3 She cooked her family dinner.

4 1 will teach you Chinese every day.

p.18

4 food

8 science
4 1o

8to

1 J4= LoA 2AHE FO

2 L= J0A HHE s =

3 Mary= Lol & 5t pg B 20|t

4 152 O MESH 34

5 Kevin2 LIOjI7| TIAS 2SER| Q4T

6 152 JH0A ¥2 HES

7 WA 2 8t Tk 7E™CHF.

8 L] oLz JS0A 2t&te 7I= R

1 d4= 2207 f25a 3

2 J= LA 29 ARIEE 20 FC

3 LIo| =2 LA AAHE B
L= HoA 22 & YaiE Z0ICh
2= 22|19 MAMHo|AH M

6 Franke 19 M AIAIE Nickol| Al ALt

7 L= DeanOijAl HX|E 22 Z0|Ct,

8 U= U2 ENIE B EH ZHE2{0f oit.

1 Lily= Loll7 REH= AUt

2 0] 2£2|Z PauldiA FAMIL.

3 2= a9 7IFMA Mg 22l R

4 L= U1 HOA S=01E 7122 Aot
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SXA Ho{7t 25t SA
128420 2384 20 3554 20
58840 6F4 20 7334 E(
1 healthy 3 thought

5 honest 6 cool

2 sweet

1 keep us safe

3 found the test easy
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4 %2 50|
8 2x7{ Hoj

4 named

7 interesting 8 made
2 call the girl Jen

4 made his son a pilot
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who / what / which
1 Who 2 What 3 What 4 Whom
5 Which
1@ 2@ 30® 4L®
5® 6© 70 8®

1 Who wrote this letter?
2 What time do you get up?

3 Which do you like better, summer or winter?

p.20
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B: L= 1|2 2,
7 A HE HA BRROIM £718 #L?

B: Lt= Lo d"E 201

8 A: 27810} 35 HA F0| 0 0] L2 Stuof 7H?

B: 27H0]| 7.

1 A: 57t 0] BXIE KiL?
B: LHZH&H01.

2 At = A0 LO{LIL?
B: 7A[0.

3A HE 6ED A= S0l = A0l B SU?

B: Lt= (iE& O Z0fat.

when / where / why / how

1 How 2 Why 3 Where
5 Where 6 How 7 How

1 Where 2 Why 3 When
5 Why

1 How old, sixteen years old
2 How many, seven caps
3 How much, three dollars

4 How often, every day
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B:
2A:
B:
3A
B:
LA
B:
5A:
B:
1A 42
B: = 1640]0f,
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p.22

1 To play 2 Todrink 3 towin 4 To drive

5 to read 6 to become 7 toride 8 to travel

1 To learn Spanish is fun.
2 I like to talk with my friends.
3 She promised not to buy a pet.

4 His favorite hobby is to play soccer.

1I4E 27D 0] BTt

2 8HE & & Ot= A2 EAl St

3 Lol A2 110|015 2= A0t

4 U= B2 Fat B As E016H| (=t
5 119 22 XSkt 7|AE 12Xl Aot
6 MAE He A2 U0 SH
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3Uel SHE EF0AM 0171 A0,

4 HE| 2Hots A2 I IRttt
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7 Brian2 S#0ilA XA Ef= XS O E0FEIC
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1 Nick wants something sweet to eat.
2 I have an album to show them.
3 She got up early to catch the train.

4 We studied hard to pass the exam.
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1250 2 304 3 =50

530 =Ly

1 help crying 2 opening 3 learning

4 camping  5thinking 6 dancing

8 like listening

1 They are busy cooking dinner.
2 She is proud of being a musician.

3 Making clothes is a lot of fun.
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420

7 telling

A0|Ct,

5iiA

1 5010 H2 Djeref
2 YW AojLi= 2L F2 HROI
3152 29U 2Fote 2 BT
419 2 01 ARSS S2E 20I0t
5 KSR FHOIA i 22 01 oIt
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[y — |
1and 2or 3 but
5 but 6 and
1and 2 but 3or

5 both, and 6 but also

p.25

1 I watched it twice
2 she is very nice

3 he looks young

4 good for our health

1 Benlt Fred = Ct &2 & StCt

2 e HeM B 3|ME Mefsh 4~

3 Judy= STIESHKSE 0L 217] QAL
= i

4 25 MTEFA 24

5 HASS FAT 4 UK/BH L 4 ik,
6 0] 7172] THYL 20| 11 AMBICH
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BAHE &AL that

1350 2 304 3 =50
5 0 630 701
1 X 20 30 40
5 X 60 7 X 8 X
1 That they helped him is a secret.
2 | don’t think that this sofa is comfortable.

3 It is well known that she is a famous dancer.

4 The sad news is that we have to leave now.
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BAFE H&AF when, while, because,

1 when 2 because 3 stops

5if 6 Because
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1 when 2if 3 because 4 while 4 Jane2 SHOF & A7t LS T
5 when 6 While 5 2= Y o7t =2 MEE 4 ULt
1 They won’t have a party if it rains tomorrow. == If it 6 IS2 2 MER =27IE o Q0|
rains tomorrow, they won’t have a party. 1 H3tel 50| UL,
2 She became very famous when she was 10 years old. — H3to| 5|U0] 79 gitt
= When she was 10 years old, she became very 2 158 HE A2 ISt
famous. — 152 5= HE AS HiSst
31 can’t understand them because they speak Spanish. 3 0[0|&2 EAM ADIEEZ 7HK| 2L A0 STt
= Because they speak Spanish, | can’t understand — X2 0[0|F2 Z|A AODIEES 7K1 40] STt
them.
4 My parents came back while | was washing the dishes. AL p-29
&= While | was washing the dishes, my parents came 1 walk 2 nice 3 much
back. 4 we could take a taxi 5 she shouted at me
BHAY Joorrrrrsrsrmsrs s 6 much 7 well 8 speaks
122 g o Z4sHzt. 1 heavily 2 well 3 fast 4 late
2 42 g7 jEo L= HES g 5 really 6 early 7 high 8 hard
3 HIZF IRICHHA 22|= S0 2 20|t 1 It is usually cool in fall.
4 L7t S HAsHE S0t Kellye TVE B QAL 2 She often goes to the theater.
5 @3 REE 4T 0| HO M HZ0| LA Z40|Ct, 3 You must always tell the truth.
6 MES0I HF MWV| 20 2= 19| 7HES &+ gl 4 He never eats snacks at night.
1 258 ME|E EX| 22 AO0|Ch WY H|7F 2 A0|Ct, ) ——
— W 7t 200 OS2 TEIE FX| 242 A0|Ct 152 wa| Al
2 J4& Ui YR Q4= S H0|ACH 2 49| HFR[= &2t HR|CH
— U= g H0|US T 0f SR 3 L= X|ZH0|Z2 2 20| ZOf3HCL
3 L= OS2 0fae == gith 152 AHQINE St 2 TG OBj HAIZ = A QOiC}
— 10| AHRINE 517| M20)| L= J152 Olaie 4= Qltt 5 ZERF7| 1A 7F Lo A2IFCH
4 LIS REH2 SO0t L= AHX|E ot AAC b4 = EfAFSEE 142 TH0| OpAICH
— W7t 4AXIE 811 U= St Lol 22H0| ol S0t 7 Nancy=s HO|222 7j & HZs3iC}
AE 8 Lkl OfD{LI= BH RE5| LSGHAICH
1 O{ZU2f0i| H| 7} Otz O] LTk
2 Katy®t L= AAO|EE 01 & HCt
34T W He A2 LHE SH0IT
4 L= BE 0| =7 LofHTt
S8 p-28 552 1 A0 3 324 Ul
1 sad 2 cold days 3 many 4 much 6 Tl= 7S OFA7| Pfol LR EA3UCY
5 alittle 6 someone new @ B0 oks0IM =0 E10 UL
1 few friends 2 little water 3 something fresh 8 e AIES UiHIsHN F&5] AEoH0f STt
4 much time 5 a little bread
b6 afew eggs 7 A lot of Hlw: 5, g, &= p.30
1 There is little hope for change. 1 tall 2 heavier 3 of 4 smartest
2 They offer something delicious to eat. 5 as 6 larger 7 more difficult
3 Many children want to have the newest smartphone. 8 worst
BHAT Joovrereerernenrnenrnrernrrrn 1 long 2 less 3 hotter
179 0|07 |= Q2|2 &1/ PHERILT, 4 most exciting 5in 6 more slowly
2 LH= £2 42 ZO0I31K| gLt 7 best 8 the
3 3t=20= 1=ZE0| Tl ULt 1 better than 2 most popular



3 as busy as 4 the shortest, of EX

EE) 1 2= AKX O AUCE
1 Marke 19| OtHX|2HF 717t AL, 2 Brad= =R0IIM 54 SOt &RATt.
2 Lo 712 9] ARt o 24t 2= =20 7 ZTst2| 2ttt

3 A2 I M 7K SOIA 71 HIMCE 4 U= MAL =0 SXIZS ofoF S

r

4 Eric2 2| Bro|M 7Hy £E3IC. 5 Lo O{HL|= OFRlol| | 5t Thg EAICY,
5 0ftt= sLEHE ZHO|RAC 6 U= OF 0| 22/ Hol 2 2= AL?
60| U2 X 2HECE o 30, 7 Ue KE Wet St faig g ogo|y?
7 O]9 =3 A[F2 K|t AJFELCHE ORI 8 L AZl= 2% 10AI0IM 11A| ALOJO] O{%LY,
8 11 EDIE == 0| AF0|A £ O F=0|Ct. 1 HEE2 oo B8 2Lt
1 Lol M2|7tat2 He| AThE ot 2 =0 M &2 -0 ARfetrt,
2 U= OHE AFYSED O R Uit 3 Linda= OHY B A2t SOt =01 E HIRLTH.
3 0| == X0t o gt
4 Z1740| O] Moj|lM 7+ 0|22 2200t A -8igko| X|AL p.32
5 012 MIAIGIA 718 21 Z0IEt. 1 under 2 near 3 for 4 at
6 HAE 7|RIECH O MAF| 5 over 6o
7 152 0I0ISE 92t 7HY 22 Y42 AN 1 from 2 behind 3in 4 next to
LH= JasmineO| 74& OFSCHR ZH0|2t0) A ZH5tTt 5 to 6 across from
7 between, and 8 in front of
1 | fell down from the tree.
2 He dived into the water.
AlZte| FX[A} p-31 3 Is the train station near here?
1 at 2 for 3on 4 after E=)
5in 6 next week 7 during 8 and 1 9] Eal= B} ool QUL
1in 2 before 3 for 4 from, to 2 Anne?| T2 23 ZX0f ALt
5on 6 during 3 HRY = mEO=E MHL}
1 The museum closes on Monday. 4 Michelle2 LY ol HE AO|Ct
2 The Korean school year begins in March. 5 & {0l FXIZH7F AL
3 Linda learns Korean for an hour every day. 6 L= SRE A A= EE0| 7t ULt
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